Govt. Women Engineering College, Ajmer
B.Tech —IV Semester(l Mid Term Feb. 2018) Branch:- ECE
Time:1 hr Sub: Optimization Techniques Max Marks:20
All questions carry equal marks

Q.1 Solve the LPP by Simplex Method: Q.2 Solve the minimum assignment
problem:
Jobs | Machines
Min. Z=x1+ Xy 11 i i
st 2% t+tx24 A 1 -3 6
X1 +7 %27 B 9 4 8
and x;, X, 20 C 5 3 4
D 6 9 7
Q.3 Use revised simplex method Q.3 Solve the transportation Problem and
to solve the LPP: test it for optimality:
Max. Z=xq + X,
s.t.3X;+ 2%, <6 Factory | Warehouse supply
X1+ 4%, < 4 OR | n . 3\
and x;, X, 20 F1 4 6 8 13 |50
F, 13 11 10 8 |70
Fs 14 4 10 13 |30
Fsq 9 11 13 8 |50
Demand | 25 35 105 20

Q.4 Solve graphically: Q.4 Write the Dual of the LPP:
Max. Z =5 x; +3 x; Max. Z,= X1 + 3X;
s.t. 3x;+5x,<15 OR s.t. 3x;+2%,56
5x1 +2x,<£10 31+ x,=4

and xg, X, 20 and X1, %220
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